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If 3z + by + cz = d is an equation of the plane containing the points
A(2,0,1), B(4,2,7) and C(-1,-1,1), thenb+c+d =
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The set of all values of k£ such that
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he level surfaces of

f(z,y,2) =+ 3y + 52

are

(a)/ a family of parallel planes with a normal vecter < 1,3,5 > . (serect)
) a family of cocentric spheres with center at the origin.

(c) a family of hyperboloids of one sheet.

(d)  a family of hyperboloids of two sheets.

(e) a family of right circular cones.
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The domain of

flz,y) =sin~! (z° + ¢ - 2) ’TCQ d 7 main a.ﬁ

is g/(ujf 915’](14} A )it
{(z,9)| 1< 2?2 +2 <3} gﬂ)} Domaan (‘P’B (oaerect)
b)  {(@y)2<2>+y <3}
(&) e 520 0 2 3 (ysy € IRE IR (
(d)  {(zy)ly >0} ,,4/"4-3"‘, t 253
(e) {(z,y)| >0}

Z S(A)y ¢ JR m«’(
x| £ o 23

51?,\ xy cosy
2

W\
a Does Not Exist . Ja (correct)
' ‘u\(' oS 4
equals 1 Lj 5 __5 % P \O"(AM
') -~
(c) eQua.ls% - Ox % il
(d) equals 0 . O
(e) equals oo - I/UV e R S




Term 211, Math 201, Major Exam II Page 4 of 8 MASTER

~_ One of the points at which the function
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N9, If f(z,y,2) = z¥*, then f.(e,1,0) =
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The tangent plane to the surface 2z + y*> — 22 = 0 at the point (0,1, 1)
contains the point
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il —092) =
o at (0,0), then L(0.1,-0.2) =
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~. Suppose that f is a differentiable function of z and y and that
L J g(u,v) = f(e™ +sin(2v), e** + cos(v)).
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The dlrectlonal derivative of f(z,y,2) = Vy22 + zy at P(1,2,—1), in the
direction of Q(—1,3,1), is
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15.  Suppose that over a certain region of space, the electrical potential V' is
iven by V = 2y? — yz + 2%yz. If the vector # is the direction in which V/
&ﬂ” 2

4 anges most rapidly at P(1,1,2), and M is the maximum rate of change

and M = 44/2 (et
M =4v3

and M = /21

and M = /17

and M = /14
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